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[1] #APCB 360 %4.7 %12
[1-1]F/ 787 ==/ 0.7 0.1 0.3
[12] Y7 aa b7 ==L 13 1 2
[1-3] Y Zmobe 7 ==L 7 > -
[1-4]F RS 7B b7 ==L 150 0.2 0.6
[1-4-11 27T F—PCBD 5 H 33 44-T FT77un b7 =)L (#17) 0.6 0.2 0.6
[1-4-2] 275 F—PCBD 5 © 344,57 hTF7nut 7 ==/l (#81) tr(0.2) 0.2 0.6
[1-5] XX 7mube 7=V 72 0.3 0.7
[1-5-11 27T F—PCBD 5 H 233 44X F7nub 7 ==/ (#105) 2.7 0.3 0.7
[1-5-21 27T F—PCBD 5 H 234454 r7upnbt 7=/l (#114) nd 0.3 0.7
[1-5-3] 275 F—PCBD H 5 23 44,5~ F7am 7 ==/ (#118) 9.5 0.3 0.7
[1-5-4] 27T F—PCBD 5 H 2344 5- X Fr7nub 7 ==/ (#123) nd 0.3 0.7
[1-5-51 27T F—PCBD 5 H 33 445X Fr7nub 7 ==/ (#126) nd 0.3 0.7
[1-6] ~F¥¥ 7 oo b7 = =/L4 39 0.9 2.4
[1-6-11 27 FF—PCBD 5 H 23344 5-~FH /7o b7 ==/l (#156) nd 0.9 2.4
[1-6-2] 27 FF—PCBD 5 H 23344 5-~FHV /a7 ==/ (#157) nd 0.9 2.4
[1-6-3] 27 FF—PCBD 5 H 2,3 44'55-~FHroua b7 x=/L (#167) nd 0.9 2.4
[1-6-4] 27 FF—PCBD 5 H 3344 55-~FHrua b7 x=/L (#169) nd 0.9 2.4
[1-7]~7 % /o7 ==L 13 0.2 0.6
[1-7-11 27 FF—PCBD 5 5 223344 5-~FF7upn b7 =)L (#170) 1.3 0.2 0.6
[1-7-21 27 FF—PCBD 5 5 2234455 ~FF7unt 7=/ (#180) 3.7 0.2 0.6
[1-7-31 27 FF—PCBD 5 5 2334455 ~FFr7unt 7=/ (#189) nd 0.2 0.6
(18] AV # /oot 7 ==/L4 1.7 0.1 0.2
[19] /F 7 ma b7 ==/l tr(0.1) 0.1 0.4
[1-10] FH 7 un 7 = =)L 0.9 0.1 0.3
[2]HCB (~"F¥HronuXEy) 14 3 8
[11] HCH3H 160 X5 %12
[11-1] a-HCH 43 2 4
[11-2] f-HCH 92 1 3
[11-3]y-HCH (B4 : VT V) 22 2 4
[11-4] §-HCH 43 0.4 1.0
[14] R Y 7 DEVT7 = V=TV (BREEBDPS10ETOH D) 140 %19 X 48
[14-11F F T 7 0EV 7 =)L =—F )LH tr(7) 4 11
[14-1-112244-FT 570 EY 7 = =)L —F )L (#47) tr(7) 4 11
[14-2] v Z T a7 =) =—F )LH tr(3) 2 6
[14-2-112,2 44 5-~ 20 F T aEV 7 = =)L =—F )L (#99) tr(3) 2 6
[14-3] ~XY T BEY T =)L =—7 )LIF nd 1 2
[14-3-112,2'445,5-~F Y 70 EY 7 == /L= —F )L (#153) nd 1 2
[14-3-212,2' 44 5,6 -~F Y T 0 EY T = = /L= —F )L (#154) nd 1 2
[14-4] ~T X T etV 7 =)L =—7 VI nd 2 4
[14-4-112,2'3,3'4,5,6-~7F 70 EY 7 = =)L —F /L (#175) K U[14-4-2] nd 2 4
2234456 ~FHTOES T =2 —F)1 (#]83)

[14-51 427 # 70 EV 7 = =)L =—F LS nd 1 3
[14-6] /7 0E®Y 7 = =)L =—F )L}f 15 3 8
[14-7] T H 7 0EY T = =)L —F )L 120 6 14
[15] V7 NAaA s ¥ Ak (PFOS) 1,300 30 80
[16] V7 Aty & B (PFOA) 1,700 40 90
[17] =22 7onX P 29 2 6
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[20] AR Vb7 2 L 72 %75 %24
[20-1] & /b7 X LU SE 5 1 3
[20-2] VHifkF 7 X L 8 1 4
[20-3] l*)i’51l:ﬂ‘75' LR 23 1 4
[20-4] 7 N7k T X LA 29 2 6
[20-5] N 2 kT X L UE 6.9 0.6 1.6
[20-6] ~F Y (kT X LA nd 0.8 2.1
[20-7] ~TF 2 k7 X LA nd 0.6 1.5
[20-8] A2 ZHifv 7 Z L nd 0.5 1.4
22 Xv & ran7 =) — AN E DK T 27 )V 140 %30 %90
[22-11 % r7maa7x)—) 120 20 60
[22-2] X Z T =Y —) tr(20) 10 30
[23) HEEUER ST 7 1 U8 nd % 1,600 %4,300
[23-1] ¥Rk T B HE nd 200 600
[232) Tk T I HE nd 500 1,400
[23-3]F{L KT W ¥ nd 400 1,000
[23-4) R DV T HE nd 500 1,300
[24] ¥ =RV nd 8 13
[25] ~UL 7 LA ~F Y AL g (PFHXS) 620 30 60
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